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TVC (Mean) vs TP delay (c,b,ch)=(0,14,8)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(0,14,9) / ndf 2χ  7.439e+04 / 25

p0        0.0±  4214 

p1        0.00± -36.02 

C = 27.76 [ps/ch]
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TVC (Mean) vs TP delay (c,b,ch)=(0,14,14)
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TVC (Mean) vs TP delay (c,b,ch)=(0,15,2)
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TVC (Mean) vs TP delay (c,b,ch)=(0,15,11)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(0,15,12) / ndf 2χ  1.411e+04 / 25

p0        0.0±  4226 

p1        0.00± -34.88 

C = 28.67 [ps/ch]
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TVC (Mean) vs TP delay (c,b,ch)=(1,0,10)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(1,0,11) / ndf 2χ  1.463e+04 / 25

p0        0.0±  4230 

p1        0.00± -35.44 

C = 28.22 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(1,0,11)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(1,0,12) / ndf 2χ  1.3e+04 / 25

p0        0.0±  4196 

p1        0.00± -34.94 

C = 28.62 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(1,0,12)

TP delay [ns]
0 20 40 60 80 100

0

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(1,0,13) / ndf 2χ  1.415e+04 / 25

p0        0.0±  4195 

p1        0.00± -35.95 

C = 27.82 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(1,0,13)

TP delay [ns]
0 20 40 60 80 100

0

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(1,0,14) / ndf 2χ  1.507e+04 / 25

p0        0.0±  4209 

p1        0.00± -37.25 

C = 26.85 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(1,0,14)

TP delay [ns]
0 20 40 60 80 100

0

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(1,0,15) / ndf 2χ  1.308e+04 / 25

p0        0.0±  4201 

p1        0.00± -36.43 

C = 27.45 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(1,0,15)



TP delay [ns]
0 20 40 60 80 100

0

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(1,1,0) / ndf 2χ  1.104e+04 / 25

p0        0.0±  4170 

p1        0.0± -36.1 

C = 27.70 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(1,1,0)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(1,1,1) / ndf 2χ  1.002e+04 / 25

p0        0.0±  4191 

p1        0.00± -35.56 

C = 28.12 [ps/ch]

TVC (Mean) vs TP delay (c,b,ch)=(1,1,1)

TP delay [ns]
0 20 40 60 80 100

500

1000

1500

2000

2500

3000

3500

4000

TVC (Mean) vs TP delay (c,b,ch)=(1,1,2) / ndf 2χ  1.029e+04 / 25

p0        0.0±  4190 

p1        0.00± -35.25 

C = 28.36 [ps/ch]
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